Observations Based on Pascal’s Triangle J

Understanding the Topic

e Pascal’s Triangle is a pattern
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e It helps in understanding
patterns, addition, and number relationships.

e |tis named after the French mathematician Blaise Pascal.

Important Points to Remember

e The first and last number in every row is always 1.

Each row shows symmetrical patterns.

e Row number n (starting from 0) has (n + 1) numbers.

e The triangle can help in finding patterns in number combinations.
e The sum of all numbersin row nis 2".

e The triangle shows patterns like counting, even-odd, and triangular numbers.

Examples with Solutions

1. Simple Addition Pattern
Question: What is the value below 1 and 2 in Pascal’s Triangle.
Solution: 1 + 2 = 3. So, the number below them is 3.

2. Symmetry in Row

Question: What are the numbers in the 4th row.

Solution: The 4th row (starting from 0) is 1, 4, 6, 4, 1. It is symmetrical.
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3. Sum of a Row T 1
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Question: What is the sum of i
numbers in the 3rd row.
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Solution: 1 +3+3+1=8=23, 1133

4. Counting Rows and Numbers 1lalegla 1*’—15
Question: How many numbers are in ' i[5 |i0(10]5 |1 Fﬂ
i
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Solution: 5 + 1 = 6 numbers. The row 117135321711 ‘FHE

is1,5,10,10,5,1.
5. Identifying Pattern
Question: Which number comes between two 3s in Pascal’s Triangle.

Solution: In the 4th row: 1, 3, 6, 3, 1 = the number between 3s is 6.

Summary Points
e Pascal’s Triangle is a triangle of numbers with special patterns.
e Each number is made by adding two numbers just above it.
e |t shows symmetry and number patterns.

e The triangle helps understand addition, powers of 2, and counting.

e Rows grow wider, and patterns repeat in a mirror-like way.




